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Why Doesn't the US Have Universal
Healthcare? - Quiz

To view the article that this quiz is based on, please go to:
https://constitutionus.com/health/why-doesnt-the-us-have-universal-healthcare/

Q1l. What is one of the main reasons the US does not have
universal healthcare?

High implementation cost
Lack of hospitals

Overpopulation
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Low demand for healthcare

Q2. Which industry strongly opposes universal healthcare in the
US?

A. Automotive industry
B. Private insurance industry
C. Agriculture industry
D. Technology industry

Q3. What was the impact of Obamacare on health insurance
coverage in the US?

A. Increased coverage by 10 million
B. Decreased coverage by 10 million
C. No change in coverage
D

. Eliminated private insurance


https://constitutionus.com/health/why-doesnt-the-us-have-universal-healthcare/

Q4. Why did many European countries adopt universal healthcare
after WWII?

A. Due to high post-war economic growth

B. Because of widespread destruction and support for social policies
C. To compete with the US

D. Because healthcare was already free

Q5. How much did the US government spend per person on
healthcare in 20222

A. $5,000
B. $8,000
C. $12,318
D. $15,000

Q6. What is a common criticism of the Canadian healthcare
system?

A. Too many doctors
B. Long waiting lists for medical services
C. Excessive use of new technology

D. Low taxes

Q7. What is a major consequence of not having universal
healthcare in the US?

Lower taxes
Increased hospital construction
Financial devastation from medical bills
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Fewer doctors



Q8. Why is it difficult to reform the US healthcare system?

A. Lack of medical technology

B. Strong opposition from special interest groups
C. Too few patients

D. High voter turnout for healthcare reforms

Q9. Which country's healthcare system is suggested as a model
for the US to emulate?

A. France
B. Canada
C. China
D. Brazil

Q10. What is a philosophical reason some Americans oppose
universal healthcare?

Belief in individualism and free market capitalism
Preference for high taxes
Dislike of hospitals
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Opposition to all government services



Answer Key

Ql:
Q2:
Q3:
Q4.
Q5:
Qo:
Q7:
Q8:
Q9:
Ql0: A

© 0N Uk~ WwWwNH
> WO mO m@>> >

=
©



